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I. CHOOSE THE CORRECT OPTION (1x15=15)

1. Due to interactional changes, the distance between the father-in-law and daughter-in-law has been
c. Reduced                  

2. Children now enjoy considerable amount of freedom in making decisions in matters of education, occupation, 
marriage and career. These changes are a result of
c. Interactional changes in family

3. Urbanization has emphasized _________________ and _________________which encourage the establishment of 
independent family units.
c. Individuality, privacy              

4. Joint family system is on the decline. Which of the following is not the main cause for its disintegration?
a. There is increased agricultural production                  

5. Which of the following is not true about the disintegration of joint family system?
c. It has failed to develop social virtues

6. Which of the following is not a disadvantage of joint family system?
b. It is economical          

7. In the traditional joint family the head of the family is
a. The eldest male member in the family              

8. Which of the following is not true of the joint family system?
b. In it each unit of the family has its own head

9. Which of the following is not characteristic of joint family system?
c. Members may or may not relate to each other

10. Which of the following is not an important advantage of a joint family system?
a. It encourages savings      

11. Which of the following is not true for joint family system?
a. Ownership of sources of production but not that of consumption belongs to whole family

12. Joint family system is weakening because
c. Agricultural sector no longer needs man power

13. In the traditional joint family, the head of the family 
b. Was more or less autocrat     

14. Major problems in the maintenance of joint family are 
a. All of the above

15. Liberty, equality, individualism, and materialism have resulted in 
a. Weakening of joint family system
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